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Note : 	This question paper having three sections A, B 
and C. Answer questions from each section as 
directed. 

SECTION—A 
(Long answer questions) 

Answer any two questions in about 500 words 
each. 	 2x20=40 

1. What is economic welfare ? How do you measure 
it ? How does Human Development Index help 
in measuring economic welfare ? 

2. Explain the concept of personal disposable 
income. How would you compute personal 
disposable income from GNP at market prices ? 
Explain. 

3. How do you estimate net value added by 
manufacturing sector in India ? Describe. 

4. What is the importance of services in economic 
development ? How would you estimate 
contributions of banking and insurance to GDP 
in India ? 
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SECTION-B 
(Medium answer questions) 

Attempt any three questions from this section. 
3x10=30 

5. Discuss estimation of national income using 
income distribution method. When do you use 
this technique in India ? 

6. How would you handle the problem of double 
counting in estimating value added ? Explain 
with the help of an example. 

7. What difficulties are encountered in India while 
estimating national income ? 

8. Discuss the main issues regarding treatment of 
government activities in national income 
accounting. 

9. Describe the main approaches to environmental 
accounting. 

SECTION-C 
(Short answer questions) 

Answer all the questions in this section. 	2x15=30 
10. Define any five concepts. 	 5x3=15 

(a) Subsidies 
(b) Incremental Capital Output Ratio 
(c) Physical Quality of Life Index 
(d) Net borrowings from abroad 
(e) Net value added at factor cost 
(f) Consumption of fixed capital 
(g) Flow of funds accounting 

11 Distinguish between any three pairs. 	3x5=15 
(a) National Capital and National Income 
(b) Balance of Payment and Balance of Trade 
c) Factor Payments and Transfer Payments 

(d) Physical and Financial Capital 
(e) GDP at market prices and GDP at factor cost 
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